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150 Questions

Que. 1 What should come next in the following letter series?
JIHGFEDCBIHGEDCBHGFE

o wa*-

1

2.

3.

4
5. None of these

Testbook Solution Correct Option - 2

Que. 2 Sadiya walks 5 km towards north then turns right and walks 5 km. There after she takes right turn
and walks 10 km and she takes right and walks 10 km and then again takes right and walks 5 km.
How far was Sadiya from the starting point?

1. S5km
2. 7km
3. 9km
4. 3 km
5. 1l1km

Testbook Solution Correct Option - 1

Que.3 How many such digits are there in the number 5231698 each of which is as far away from the
beginning of the number as when the digits are rearranged in ascending order?

1. None
2. One
3. Two
4. Three
5. More than three
Testbook Solution Correct Option - 4

Que. 4 If positions of the third and tenth letters of word CONCENTRATION are interchanged, and likewise
the position of the fourth and seventh letters, the second and sixth letters, is also interchanged, which
of the following will be eighth letter from right end?

1. T
2. N
3. O
4. A
5. E

Testbook Solution Correct Option - 3

Que. 5 How many such pairs of letters are there in the word MONOPOLY each of which has as many
letters between them in the word (in both forward and backward directions), as they have between
them in the English alphabetical series?
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2. Six
3. Five
4. Four

5. Less than four
Testbook Solution Correct Option - 2

Que. 6 Directions: In the question below there are three statements followed by three conclusions I, I and
II1. You have to take the three given statements to be true even if they seem to be at variance from
commonly known facts and then decide which of the given conclusions logically follows from the three
statements disregarding commonly known facts.

Statements:
I. No joke is funny.
II. A few funny are rhymes.
II1. All jokes are fairs.
Conclusions:
I. Some fair can be funny.
II. None of the rhymes are jokes.
III. Some fair are rhymes.
1. Both conclusion I and conclusion II follow.
2. Only conclusion I follows.
3. Only conclusion III follows
4. Both conclusion II and conclusion III follow
5. Either conclusion I or conclusion II follows
Testbook Solution Correct Option - 2

Que. 7 Direction: In the question below there are three statements followed by three conclusions I, I and
III. You have to take the three given statements to be true even if they seem to be at variance from
commonly known facts and then decide which of the given conclusions logically follows from the given
statements disregarding commonly known facts.

Statements:
I. Some designs are modern.
II. Some modern are contemporary.
III. All bohemian are contemporary.
Conclusions:
I. Some modern being bohemian is a possibility.
II. Some designs are bohemian.
III. No contemporary is design.
1. Only conclusion I follows.
2. Either conclusion I or II follows
3. Only conclusion III follows.
4.  Both conclusion I and conclusion II follow.
5. None of the above
Testbook Solution Correct Option - 1

Que. 8 Direction: In the following question below are given some statements followed by some
conclusions based on those statements. Taking the given statements to be true even if they seem to
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be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:
All Mango is Indian
Some Alphonso is Mango
Some Mango is Totapuri
Conclusions:
1) Some Alphonso is Totapuri
2) Some Indian is Alphonso
3) Some Mango is Indian
1. Only conclusion 1 follows
2. Both conclusion 2 and 3 follows
3. Only2
4. Either 1 or3
5. None follows
Testbook Solution Correct Option - 2

Que. 9 Directions: In the following question, three statements are given followed by three conclusions I, II
and III. You have to consider the given statements to be true even, if they seem to be at variance
with commonly known facts. Read all the conclusions and decide which of the following logically follows
from the given statements disregarding the commonly known facts.

Statements:
Some Book are Page.
No Page is Pencil.
Some Pencil are Pen.
Conclusions:
I. Some Page are Pen.
II. Some Pen are Book.
III. Some Book being Pencil is a possibility.
1. Only I follows
2. Only II follows
3. Only III follows
4.  Only I and II follow
5. Only I and III follow
Testbook Solution Correct Option - 3

Que. 10 Direction: In each of the questions given below statements are followed by some conclusions. You

have to take the given statements to be True even if they seem to be at variance from commonly
known facts. Read all the conclusions and then decide which of the given conclusions logically follows from
the given statements disregarding commonly known facts.

Statements:

All rhyme are words.
Some words are notes.
No notes is beats.
Conclusions:

I. At The least some beats is thymes.
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II. Few notes being rhyme is a possibility.IIl. No beats is words.
1. Only I follows
2. Only II follows
3. Only III follows
4. Either I or III follows
5. None of these
Testbook Solution Correct Option - 2

Que. 11 Directions: In each question below is given a group of numbers/symbols followed by five
combinations of letter codes numbered (1), (2), (3), (4) and (5). You have to find out which of the
combinations correctly represents the group of numbers/symbols based on the following coding system and
the conditions and mark the number of that combination as your answer:

Letter |M|A|T|W|R|E|K|IT|H|F|U|[B|N|P

Letter
Code

sl@|3|7]lo]2|8|%|1|#]|s]6]9]5

Conditions:

1) If both the first and the last letters are consonants, then both are to be coded as the code for the first letter.
i1) If both the first and the last letters are vowels, then both are to be coded as the code for the last letter.

ii1) If the first letter is a vowel and the last letter is a consonant, then their codes are to be interchanged.

ii1) If the first letter is a consonant and the last letter is a vowel, then both are to be coded as *.

MRTPFW
1. 4035#7
2. TO35#4
3. TO35#7
4. 4035#4

5. None of these
Testbook Solution Correct Option - 4

Que. 12 ENTHWR

1. 29317©
2. 293172

3. ©93170

4. *9317*

5. None of these
Testbook Solution Correct Option - 5

Que. 13 AEBRMH

1. @26041
2. 12604@

3. 126041

4. @2604@

5. None of these
Testbook Solution Correct Option - 2
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Que. 14 HBEAFU

1. 162@#$
2. 6@
3. 162@#l
4. $62@#l

5.  None of these
Testbook Solution Correct Option - 2

Que. 15 IRFAME

1. 20H@A%
2. 20H@42

3. %OH@A%

4, *OH@4*

5. None of these
Testbook Solution Correct Option - 2

Que. 16 Directions: Read the following information and answer the below given questions.

Eight persons — Princy, Quincy, Rana, Sanam, Thanu, Uva, Varun and Zareen are going to four
destinations viz., Hyderabad, Bangalore, Mumbai and Kolkata and they represent four different departments
viz., Human Resources, Sales, Finance and Marketing but not necessarily in the same order. At least two
persons belong to the same department and two of them visit the same destination. Princy belongs to the
Finance department and he visits the same city as that of Varun. Varun doesn’t belong to the Finance,
Marketing or Human Resources department. Varun doesn’t visit Kolkata or Mumbai. Rana visits Hyderabad
and belongs to Human Resources department. The person who belongs to the Finance department other than
Princy visits Hyderabad. Quincy and Varun belongs to the same department. Uva visits Mumbai and he,
doesn’t belongs to Sales and Marketing department. The two persons who belong to Marketing department
visit Kolkata. Sanam doesn’t belong to the Marketing department.

Thanu belongs to which department?
1.  Human Resources
2. Sales
3. Finance
4. Marketing
5. Can’t be determined
Testbook Solution Correct Option - 4

Que. 17 Who among the following belong to the Sales department?
1. Quincy and Zareen
2. Rana and Varun
3. Quincy and Varun
4. Rana and Zareen
5. Uvaand Zareen
Testbook Solution Correct Option - 3

Que. 18 Which of the following city is visited by Sanam?

1. Mumbai
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2. Kolkata
3. Hyderabad
4. Bangalore

5. Can’t be determined

Testbook Solution Correct Option - 3

Que. 19  Which of the following two persons visit Mumbai?
1. Quincy and Varun
2. Rana and Sanam
3. Quincy and Sanam
4. Ranaand Uva
5. Quincy and Uva
Testbook Solution Correct Option - 5

Que. 20 Which of the following combinations of person — city — destination is correct?
1. Zareen — Kolkata — Sales
2. Uva— Mumbai — Marketing
3. Princy — Hyderabad — Finance
4. Sanam — Hyderabad — Finance
5. Thanu — Kolkata — Sales
Testbook Solution Correct Option - 4

Que. 21 Direction: Read the following information carefully and answer the following questions given
below:

‘A # B’ means that A is neither equal nor smaller to B.
‘A § B’ means that A is not greater to B.

‘A & B’ means that A is neither greater nor equal to B.
‘A ! B’ means that A is not smaller to B.

‘A © B’ means that A is neither greater nor smaller to B.

Now in each of the following questions assuming the given statements to be true, find which of the
conclusion/s given below them is/are definitely true?

Statements:
W#X, XSY,YOZ,Z&P
Conclusions:
LX&Y
II. W&P
n.Yox
1. Only conclusion I is true
2.  Either conclusion II or III is true
3. Only conclusion II is true
4. Either conclusion I or III is true
5. None of above is true
Testbook Solution Correct Option - 4
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Que. 22 Statements:
FSGH!FI$J,I#G
Conclusions:
LI&H
I.J#F
. G=H
1. Only conclusion I is true
2.  Either conclusion I or II is true
3. Only conclusion II is true
4. All are true
5. None of above is true
Testbook Solution Correct Option - 3

Que. 23 Statements:
A&B,C!B,D#E,E& A
Conclusions:
LB&A
I.CoD
HNLE&C
1. Only conclusion I is true
2. Only conclusion III is true
3. Only conclusion II is true
4.  Either conclusion II or III is true
5. None of above is true
Testbook Solution Correct Option - 2

Que. 24 Statements:
FIGH&FIO©IJ J#F
Conclusions:
LI#H
ILL.G&J
. J#H
1. Only conclusion I and II are true
2. Only conclusion II and III are true
3.  Either conclusion III and I are true
4.  All are true
5.  None of above is true
Testbook Solution Correct Option - 4

Que. 25 Statements:
KOLM#K,N&O,0OOM

Conclusions:

LO&L

ILM#N

. O#K
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1. Only conclusion I and II are true
2. Only conclusion III is true
3. Only conclusion II and III are true
4. All are true
5. None of above is true

Testbook Solution Correct Option - 3

Que. 26 Directions: Study the following information carefully and answer the questions given below:

A, B, C, D, E, F, G and H are eight persons sitting around a rectangular table, not necessarily in the
same order, in such a way that three persons sit on each longer side of the table and one person sits on each
shorter side of the table. All of them are facing towards the centre of the table. A, B, C, E, F and G are sit on
longer side of the table other sits on shorter side of the table.

Two persons sit between G and A. Three persons sit between H and D. C is sitting third to the left of B. A is
not the neighbour of B. G sit second to the right of E. H is not the neighbour of F.
What is the position of C with respect to D?

1. second to the right
2. Immediate right
3. Immediate left
4. Second to the left
5. Third to the right
Testbook Solution Correct Option - 5

Que. 27 How many persons sit between G and D when counted from the left of D?

1. 1

2. 3

3.  More than 3
4. None

5. Two

Testbook Solution Correct Option - 4

Que. 28 Four of the following five are alike in a certain way based on the given arrangement and hence
form a group. Which on one of the following does not belong to that group

1. A
2. F
3. E
4. B
5. D

Testbook Solution Correct Option - 5

Que. 29 Who among the following sits third to the right of H?

1. C
2. B
3. D
4. G
5. E

Testbook Solution Correct Option - 4
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Que. 30  Which of the following pairs represents the persons who sit between E and the one who sits second

5.

1

2.
3.
4

to the left of A, when counted from the right of E?
G, B
G,C
Only G
B,C
C,H

Testbook Solution Correct Option - 1

Que. 31 Directions: Study the following information carefully and answer the given questions:A word and

number arrangement device when given an input line of words and numbers rearranges them

following a particular pattern in each step. The following is an illustration of input and rearrangement.
Input: sell dog 18 23 for 95 than 38

Step I: dog sell 18 23 for 95 than 38

Step II: dog 95 sell 18 23 for than 38

Step III: dog 95 for sell 18 23 than 38

Step I'V: dog 95 for 38 sell 18 23 than

Step V: dog 95 for 38 sell 23 18 than

Step VI: dog 95 for 38 sell 23 than 18

And Step VI is the last step of the above input.

As per the pattern followed in the above steps, find out in each of the following questions the appropriate step
for the given input.

Input: yeast 38 stick 48 house friend 95 65.

What is the position of word "stick " in step I11?

B -

5.

Third from the right
Fourth from left

second from the right end
first from left end

None of these

Testbook Solution Correct Option - 1

Que. 32 How many steps are required to complete the arrangement?

1.
2.
3.
4.
5.

Five
Seven
Six
Four

None of these

Testbook Solution Correct Option - 3

Que. 33 How many element are to the right of 48 in step [V?

l.

2.
3.
4.

Three
Four
Five
Six
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5. None
Testbook Solution Correct Option - 5

Que. 34 How many elements (words or numbers) are there between ‘stick’ and ‘95' as they appear in the
last step of the output?

1. four
2. two
3. five
4. six

5. None

Testbook Solution Correct Option - 2

Que. 35 Which element is third to the left of 'stick' in step IV?

1. dog
2. sell

3. house
4. 38

5. 48

Testbook Solution Correct Option - 3

Que. 36 Directions: Study the following arrangement carefully and answer the questions.

R%YIO@8&VMI#LTESOXA£L£CSNOF3IKOU4
How many such symbols are there in the given arrangement, each of which are immediately preceded by a
vowel and immediately followed by a number?

1. Three
2. Four
3. Two
4. One
5.  Zero

Testbook Solution Correct Option - 3

Que. 37 What is the sum of all the numbers that are either preceded by or followed by a symbol?
1. 25

2. 17
3. 22
4. 18
5. 21

Testbook Solution Correct Option - 4

Que. 38 How many such letters are there which are immediately preceded by a symbol and immediately
followed by a consonant?

1. Three
2. Two
3. One
4. Four
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5. Five
Testbook Solution Correct Option - 3

Que. 39  Which of the following is the fifth to the right of the sixth element from the right end of the above
arrangement?

S =

1

2.

3.

4.
5. 1

Testbook Solution Correct Option - 1

Que. 40 How many such numbers are there that are immediately followed by a vowel or immediatel
y y Yy y
preceded by a consonant but not both?

1. Three
2. One
3. Five
4. Two
5. Four

Testbook Solution Correct Option - 4

Que. 41 Direction: In the following question, a given questions is followed by information in three
statements. You have to find out the data in which statement (s) is sufficient to answer the question
and mark your answer accordingly.

A, B, C and D are sitting around a circular table facing the centre. Who is sitting opposite to A?
L. D sits to the immediate left of A.
II. C sits to the immediate right of A.
III. B sits second to the right of A.
1. Statements I and II together are not sufficient.
2. Statement III alone is sufficient.
3. Statements I is alone sufficient.
4. Statement II alone is sufficient.
5. Insufficient data

Testbook Solution Correct Option - 2

Que. 42 Direction: In the following question, a given questions is followed by information in three
statements. You have to decide the data in which statement (s) is sufficient to answer the question
and mark your answer accordingly.

There were 7 members in a family: T, U, V, W, X, Y and Z. How is W related to X?
I. W is grandfather of Z. Y is father of Z.
II. X and Y are married couple. T is mother of X .
III. V is married to U. U is sister of X.
1. All the statements are required
2. Only I and II are sufficient
3. Only II and III are sufficient
4.  Only I and III are sufficient

Latest Sarkari Jobs, Govt Exam Results,
. . Know More
Vacancies and updates on one click




5. Question cannot be answered even with the information in all three statements.
Testbook Solution Correct Option - 5

Que. 43 Direction: The following question consists of three statements numbered I, II and III. Decide if
data given in the statements are sufficient to answer the questions below.

Five poles R, A, D, S, and T are placed in a row. What is the position of A with respect to R?
I. D is exactly between R and T.
II. S is at the rightmost end.
III. A is to the immediate right of T.
1. All the statements are required
2. Only I is sufficient
3. Both I and III are sufficient
4. Both II and III are sufficient
5. Data insufficient

Testbook Solution Correct Option - 3

Que. 44 Direction: In the following questions, a given question is followed by information in three
statements. You have to decide the data in which statement(s) is sufficient to answer the question
and mark your answer accordingly.

What does ‘whole’ represent in the given code language?
Statement I: ‘ap du kf rs’ means ‘complete the whole task’.
Statement II: ‘th sa hu’ means ‘boring but good’.
Statement III: ‘sa kf ap’ means ‘whole task boring’.
1. Statement I and II together are sufficient to answer the question.
2. All the statements together are required to answer the question.
3. Statement I and III together are sufficient to answer the question.
4. Statement II and III together are sufficient to answer the question.
5. All the statements together are not sufficient to answer the question.
Testbook Solution Correct Option - 5

Que. 45 Direction: In the following question, a given question is followed by information in three
statements. You have to find out the data in which statement(s) is sufficient to answer the question
and mark your answer accordingly.

There are five points A, B, C, D and E. What is the position of A with respect to D?
I. A is to the North of B, which is to the West of C.
II. D is to South of C.
III. E is to the East of D.
1. All the statements are required.
2. Only I and II together are sufficient.
3. Only II and III together are sufficient.
4.  Only I and III together are sufficient.
5. Question cannot be answered even with the information in all three statements.

Testbook Solution Correct Option - 2

Que. 46 Direction: Each of the following questions consists of a statement followed by two arguments I
and II. In making decision about important questions, it is desirable to be able to distinguish
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between ‘strong’ arguments and ‘weak’ arguments. ‘Strong’ arguments are those which are both important
and directly related to the question. “Weak’ arguments are those which are of minor importance and also may
not be directly related to the question or may be related to a trivial aspects of the question. Analyze first the
statement then the arguments in context of the statement and finally decide which of the arguments hold(s)
strong and help(s) formulate the most appropriate opinion on the subject.

Statement: Should all the foreign banks be asked to close down their operations in India?
Arguments:
I. No. This will have an adverse effect on India economy.
II. Yes. This is the only way to make the Indian banks survive and prosper.
1.  Only argument I is strong
2. Only argument II is strong
3. Either I or Il is strong
4. Neither I nor Il is strong
5. BothIand II are strong
Testbook Solution Correct Option - 4

Que. 47 Direction: Each of the following questions consists of a statement followed by two arguments I
and II. In making decision about important questions, it is desirable to be able to distinguish
between ‘strong’ arguments and ‘weak’ arguments. ‘Strong’ arguments are those which are both important
and directly related to the question. “Weak’ arguments are those which are of minor importance and also may
not be directly related to the question or may be related to a trivial aspects of the question. Analyze first the
statement then the arguments in context of the statement and finally decide which of the arguments hold(s)
strong and help(s) formulate the most appropriate opinion on the subject.

Statement: Should selection tests be of the objective rather than of the descriptive type?
Arguments:
I. Yes. The assessment of answers to objective type questions is fair and impartial.
II. No. The descriptive type test is certainly a better toll than the objective type test.
1. Only argument [ is strong
2. Only argument II is strong
3. Either I or Il is strong
4. Neither I nor Il is strong
5. BothIand II are strong
Testbook Solution Correct Option - 1

Que. 48 Directions: In the question below is given a statement followed by two courses of action numbered
I and II. You have to assume everything in the statement to be true and based on the information
given in the statement, decide which of the suggested course of action logically follow(s) for pursuing.

Statement: Two individuals are arguing loudly on a street over the work done by different political parties.
Courses of action:
I. They should continue arguing in the same manner because that is how democracy thrives.
II. They should debate over the topic in a civilized manner.
1. Only I follows
2. Only II follows
3. Either I or II follows
4.  Neither I nor II follows
5. BothIand II follow
Testbook Solution Correct Option - 2
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Que. 49 Directions: In the question below is given a statement followed by two courses of action
numbered I and II. You have to assume everything in the statement to be true and on the
basis of the information given in the statement, decide which of the suggested course of action logically
follow(s) for pursuing.

Statement: India currently faces a severe shortage of well trained and skilled professionals, with 2.3% of the
work force has undergone formal skill training.

Courses of action:
I.India should outsource work to skilled professionals in other countries.
II. Vocational courses trageting skill-building should be incorporated in the curriculum.
1. Only I follows.
2. Only II follows.
3. Either I or II follows.
4. Neither I nor II follows.
5. BothIand II follows.
Testbook Solution Correct Option - 2

Que. 50 Directions: The question consists of a statement and two inferences. The student must first
determine whether each statement is true. Choose the appropriate answer after reading the
statement carefully.

Statement: Until the 19th century, loneliness referred to a place of absolute isolation, cut off from the world,
and God’s love.

Inference:
I. People do not want to be lonely.
II. Those devoid of God's love suffer from loneliness.
1. IfonlyI follows.
2. Ifonly II follows.
3. Ifboth I and II follow.
4. If neither I nor II follows.
5. [Ifeither I or II follows.
Testbook Solution Correct Option - 2

Que. 51 Read the passage given below and then answer the questions given below the passage. Some
words may be highlighted for your attention. Read carefully.

As India entered the 21st century, the Net National Income of the average Indian was 320,000. While this
figure is not the actual earnings of an individual, it is a good proxy for the average Indian’s annual income.
By 2015, it had grown to ¥90,000. Had it continued on the same trajectory, it should have been X1,65,000
today. Instead, as the recent Economic Survey shows, the Net National Income for the average Indian is
%1,35,000. In other words, the average Indian has potentially lost 30,000 in net annual income. For most
Indians, 330,000 a year is a very big amount. This is the cost of economic underperformance for the average
Indian.

It is well accepted by most political economists that India’s economic performance is largely shaped by the
‘POW’ trinity — politics, oil and world economy. Political leadership and stability are critical determinants
of domestic and foreign investment in India. Global oil prices play an inordinately

large role in shaping India’s macroeconomy. World trade and global GDP drive India’s exports and

industry. In 2014, India gleamed with hope. For the first time in nearly half a century, the ‘POW’ trinity was
perfectly aligned. Indians handed a parliamentary majority to a supposedly strong, decisive leader with a
promise of economic development. Beginning in 2014, global crude oil prices dropped precipitously from
more than $100 a barrel to $40. It was estimated then that the steep fall in oil prices alone would add two
extra percentage points to India’s GDP growth rate, besides taming inflation. The global economy was also
on an upward trend from 2014, recovering robustly from the devastation of the 2008 economic crisis. The

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click




period from 2014 to 2019 was among the best five years for world economic growth in the 21st century. So,
in the summer of 2014, a billion Indians glimmered in hope and excitement at the prospect of rapidly rising
income levels and prosperity under a perfectly aligned ‘POW’. Six years later, not only has the average
Indian’s income levels not grown faster than before, it is actually 30,000 short of what it should have been.
Why did things go so wrong? The ongoing health catastrophe caused by the novel coronavirus in Hubei
province of China offers meaningful parallels and lessons for India’s economic policy climate.

What should have been the Net National Income of the average Indian today?

5.

1
2.
3.
4

100000
165000
200000
120000
None of the above

Testbook Solution Correct Option - 2

Que. 52 What are the factors that shape India’s economic performance according to political economist ?

1.
2.
3.
4.
5.

‘POW’ trinity — politics, oil and world
Income and Expenditure
Rich and Poor
GDP and GNP

None of the above

Testbook Solution Correct Option - 1

Que. 53 Which among the following statements is true as per the passage given above?

1.
2.
3.

4.
5.

India has the largest economy.
Indian economy is booming

The period from 2014 to 2019 was among the best five years for world economic growth in the 21st
century.

The global economy was also on an downward trend from 2014

None of the above

Testbook Solution Correct Option - 3

Que. 54 What drive India's exports and Industry?

1.
2.
3.
4.
5.

Trade and Export GDP drive India’s exports and industry
Demand and Supply GDP drive India’s exports and industry
World trade and global GDP drive India’s exports and industry
Import and Export GDP drive India’s exports and industry

None of the above

Testbook Solution Correct Option - 3

Que. 55 Which among the following statements can be inferred as per the given passage?

1.
2.

For most Indians, 360,000 a year is a very big amount.

Beginning in 2017, global crude oil prices dropped precipitously from more than $100 a barrel to
$40.

Political leadership and instability are critical determinants of domestic and foreign investment in

India.
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4. The global economy was also on an upward trend from 2014, recovering robustly from the
devastation of the 2008 economic crisis.

5. None of the above
Testbook Solution Correct Option - 4

Que. 56 Select the correct synonym of the word "precipitously’ given in the passage.

1. Abruptly
2. Disturbed

3.  Violent

4. Ponder

5. Slowly

Testbook Solution Correct Option - 1

Que. 57 Select the appropriate antonym of the word 'glimmer' given in the passage.

1. Flame
2. Flash

3. Sparkle
4. Dull

5. Glow

Testbook Solution Correct Option - 4

Que. 58 Among the given options what could be the central idea of the passage?
1. The global economy was on an downward trend from 2014
2. the Indian economy is not showing the expected growth.
3. Indian economy is booming
4. India has the largest economy
5. the average Indian has potentially lost 30,000 in net annual income.

Testbook Solution Correct Option - 2

Que. 59  Which of the following best describes the tone of the passage?
1. Dogmatic
2. Accusative
3. Biased
4. Speculative
5. Introspective
Testbook Solution Correct Option - 4

Que. 60 Which among the following should be the correct meaning of the prepositional phrase 'gleamed
with'?
1. to be filled with sorrow
2. to be unsure
3. to sparkle or shine with something.
4. to be excited
5. None of the above
Testbook Solution Correct Option - 3
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Que. 61 In the following question, out of the four alternatives, select the word similar in meaning to
the word given.

Severe
1. Gentle
2. Brutal
3. Lightly
4. Fester

5. None of these
Testbook Solution Correct Option - 2

Que. 62 The following question has a word. Choose the option with a word that gives a similar

meaning.
Beget
1. Procreate
2. Aberrant
3. Abet
4. Abject

5. none of these
Testbook Solution Correct Option - 1

Que. 63 Select the most appropriate synonym of the given word.
Exceed

1. Improve

2. Decline

3. Surpass

4. Decrease

5. none of these
Testbook Solution Correct Option - 3

Que. 64 What is Justify most likely means?

1. Unreasonable
2.  Defend
3. Switch

4. Reverse
5. none of these

Testbook Solution Correct Option - 2

Que. 65 Directions: In the following question, out of the four alternatives, choose the word which best
expresses the meaning of the given word and click the button corresponding to it.

Feeble
1. Decrepit
2.  Robust
3. Tenacious
4. Sinewy
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5. None of these
Testbook Solution Correct Option - 1

Que. 66 In the following question, one part of the sentence may have an error. Find out which part of
the sentence has an error and click the button corresponding too it. If the sentence is free
from error, click the '"No error' option.

When the storm rose (1)/ on the river, they had to (2)/ bale out to reach (3) the shore safe. (4) No error (5)

1. 1
2. 2
3. 3
4. 4
5.5

Testbook Solution Correct Option - 4

Que. 67 In this question, a sentence has been divided into four parts (A), (B), (C) and (D). Read the
sentence to find out whether there is any grammatical error in it. The error if any, will be in
one part of the sentence. Mark that part as your answer. If there is no error, the answer is ‘No error’.
Ignore the error of punctuation if any.
She was walking (A) to the office (B) everyday when (C) she first started working. (D)

1. (A)

2. (B)
3. (0
4. (D)

5.  No error

Testbook Solution Correct Option - 1

Que. 68 In this question, a sentence has been divided into four parts (A), (B), (C) and (D). Read the
sentence to find out whether there is any grammatical error in it. The error if any, will be in
one part of the sentence. Mark that part as your answer. If there is no error, the answer is ‘No error’.
Ignore the error of punctuation if any.

Their was shopping (A) and packing (B) to be done (C) before they left on vacation. (D)
1. (A

2. (B)
3. (C)
4. (D)

5. No error
Testbook Solution Correct Option - 1

Que. 69 In this question, a sentence has been divided into four parts (A), (B), (C) and (D). Read the
sentence to find out whether there is any grammatical error in it. The error if any, will be in
one part of the sentence. Mark that part as your answer. If there is no error, the answer is ‘No error’.
Ignore the error of punctuation if any.

The entrance exams (A) are tough as we (B) only have two hours (C) to complete a full paper. (D)
. (A

2. (B)

3. (O

4. (D)
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5. No error
Testbook Solution Correct Option - 3

Que. 70 In this question, a sentence has been divided into four parts (A), (B), (C) and (D). Read the
sentence to find out whether there is any grammatical error in it. The error if any, will be in
one part of the sentence. Mark that part as your answer. If there is no error, the answer is ‘No error’.
Ignore the error of punctuation if any.

Their going (A) to Delhi in August (B) to celebrate (C) their brother's wedding. (D)

1. (A)
2. (B)
3. (0
4. (D)

5. No error
Testbook Solution Correct Option - 1

Que. 71 In this question, a sentence has been divided into four parts (A), (B), (C) and (D). Read the
sentence to find out whether there is any grammatical error in it. The error if any, will be in
one part of the sentence. Mark that part as your answer. If there is no error, the answer is ‘No error’.
Ignore the error of punctuation if any.

He was strong (A) and ready for (B) every duties that (C) could be thrown his way.(D)
1. (A)

2. (B)
3. (C)
4. (D)

5. No error
Testbook Solution Correct Option - 3

Que. 72 In this question, a sentence has been divided into four parts (A), (B), (C) and (D). Read the
sentence to find out whether there is any grammatical error in it. The error if any, will be in
one part of the sentence. Mark that part as your answer. If there is no error, the answer is ‘No error’.
Ignore the error of punctuation if any.

He has lived (A) in the Tokyo city's (B) main central business district (C) for ten years. (D)

1. (A)
2. (B)
3. (0
4. (D)

5. No error
Testbook Solution Correct Option - 2

Que. 73 Read the sentence to find out whether there is any error in it. The error, if any, will be in one
part of the sentence. The number of that part is the answer. If there is no error, the answer is
(5). Ignore errors of punctuation, if any.

Cynthia responded (A)/, focusing her attention (B)/ on a newly launched book (C)/ written of her mother. (D)
No error. (E)

1. D
2. A
3. C
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4,
5.

B
E

Testbook Solution Correct Option - 1

Que. 74 Read the sentence to find out whether there is any error in it. The error, if any, will be in one

part of the sentence. The number of that part is the answer. If there is no error, the answer is

(5). Ignore errors of punctuation, if any.
I intend (A)/ to go straight back home,(B)/ but I sort of wandered (C)/ inside a bookstore. (D)/ No error. (E)

1.
2.
3.
4.
5.

C
B
A
D
E

Testbook Solution Correct Option - 3

Que. 75 Find out which part has an error, and mark it as your answer. If there is no error, mark ‘No

Error’ as your answer. Ignore the error of punctuation, if any.

Each of the students (A)/ in the computer class (B)/ have to type their own (C)/ research paper this semester.

(D)

5.

1
2.
3.
4

o w >

No error

Testbook Solution Correct Option - 3

Que. 76 In the following sentence, a part of the sentence is underlined. Below are given alternatives to

the underlined part, which may improve the sentence. Choose the correct alternative. In case

no improvement is needed, choose the alternative that indicates No improvement needed.

Indian singer Zubeen Garg would be honoured with the 'Hero to Animals Award' from People for
the Ethical Treatment of Animals (PETA) India from his recent appeal to end animal sacrifice at the
Kamakhya Temple in Assam.

(A) For his recent appeal
(B) To his recent appeal
(C) On his recent appeal

5.

1
2.
3.
4

Both A and B
Both B and C
Only A
Only B

No improvement.

Testbook Solution Correct Option - 3

Que. 77 In the following sentence, a part of the sentence is underlined. Below are given alternatives to

the underlined part, which may improve the sentence. Choose the correct alternative. In case

no improvement is needed, choose the alternative that indicates 'No improvement.'
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The council had been decided that the accused employee would walk free.
A. Had decided
B. Had being decided
C. Has to be decided
1. Only A
2. OnlyC
3. BothBandC
4. Both A and B
5. No improvement
Testbook Solution Correct Option - 1

Que. 78 Given below is a sentence that may or may not be grammatically viable, choose the most
suitable alternative that reflects the grammatically correct sentence.

You’ve met Oliver, but [ have other brother who you haven’t met, called Lucas.
1. I have the other
2. Ihave another
3. T have other
4. Ihave few
5. Thave some
Testbook Solution Correct Option - 2

Que. 79 Direction: A sentence/a part of the sentence is underlined. Five alternatives are given to the
underlined part which will improve the meaning of the sentence. Choose the correct
alternative. In case no improvement is needed, click the option corresponding to “No improvement”.

Try to walk slowly lest you should not fall.

1. Fast lest you should not
2. Slowly lest you should
3. Slowly and you should
4. Fast and you should
5. No improvement
Testbook Solution Correct Option - 2

Que. 80 Which of the following phrases (1), (2), (3), (4) given below in the statement should replace
the phrase printed in bold in the sentence to make it grammatically correct? If the sentence is
correct as it is given and ‘No Correction is required’, mark (5) as the answer.

The man who has committed such a serious crime must get the mostly severe punishment.
1. Be getting the mostly severely
2. Get the most severe
3. Have got the most severely
4. Have been getting the severe most
5. No correction required

Testbook Solution Correct Option - 2

Que. 81 Direction: There are two blanks in the sentence given below. From the pair of words given in
the options, choose the one that fits into the blanks most appropriately.

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click




Children are and so the parents have to adopt a well-balanced approach towards their on the
psychological, emotional and physical aspects.

1. Fragile, upbringing

2. Robust, breeding

3. Competitive, upgrading
4. Aggressive, substitution
5. Adamant, abeyance

Testbook Solution Correct Option - 1

Que. 82 Direction: There are two blanks in the sentence given below. From the pair of words given in
the options, choose the one that fits into the blanks most appropriately.

Even extreme may ultimately vent itself in violence- but more generally takes the form of
1. Felicity, phlegm
2.  Contentment, nonchalance
3. Grief, apathy
4. Idyll, placidity
5. Happiness, curse

Testbook Solution Correct Option - 3

Que. 83 Directions: The sentence given below has 2 blanks, each blank indicating that something has
been omitted. Choose the combination of words that would fit the blank appropriately.

Nine Indian cities have taken measures to the impacts of the climate crisis and
inculcated a climate-sensitive approach to urban planning

1. calculated, repress

2. dismissive, suppress

3. insignificant, exaggerate
4. important, aggravate

5. significant, mitigate

Testbook Solution Correct Option - 5

Que. 84 Directions: The sentence given below has 2 blanks, each blank indicating that something has
been omitted. Choose the combination of words that would fit the blank appropriately.

The court said the Char Dham Yatra needs to be or while citing the cancellation of
Amarnath Yatra in Jammu & Kashmir.

1. upheld, sacrificed
2. repositioned, revived
3. postponed, cancelled
4. revived, cancelled
5. preponed, obliterated
Testbook Solution Correct Option - 3

Que. 85 Directions: In the question below, a sentence is given with two blanks, indicating that some
parts are missing. Identify the correct pair of words that fit in the sentence to make it
grammatically and contextually correct.

The impatient ragamuffins were the main of the dictators who were not with their

behaviours.
Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click




1
2.
3.
4

5.

Attention, Jealous
Curiosity, Satisfied
Culprits, Aware
Whispernappers, Upright

Grumbletonians, Convienenced

Testbook Solution Correct Option - 2

Que. 86 Rearrange the following five sentences/ group of sentences (A), (B), (C), (D), and (E) in the

proper sequence to form a meaningful paragraph; then answer the questions given below

them

A. He started chatting with a man standing nearby who was also waiting for the mechanic shop to open.
B. However, he needed some money and decided to go to work.

C. Simon felt ill when he woke up in the morning and decided to take leave from work.

D. Unfortunately, he was laid off at his work place because of not having enough work.

E. He became disappointed and while driving his scooter back home, it got punctured.

F. He took his vehicle to the mechanic shop, but the shop was closed for an hour.

Which sentence will appear first in the given paragraph?

3.

1
2.
3.
4

A
C
B
F
D

Testbook Solution Correct Option - 2

Que. 87 Which sentence will appear second in the given paragraph?

1.
2.
3.
4.
5.

D

> W ™

E

Testbook Solution Correct Option - 3

Que. 88 Which sentence will appear third in the given paragraph?

1.
2.
3.
4.
5.

A

w T

D

Testbook Solution Correct Option - 5

Que. 89 Which sentence will appear fourth in the given paragraph?

1.
2.
3.

E
B
F
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4. D
5. None of these
Testbook Solution Correct Option - 1

Que. 90  Which sentence will appear fifth in the given paragraph?

1. F
2. B
3. D
4. E
5. C

Testbook Solution Correct Option - 1

Que. 91 Direction: Fill in the blanks for the passage below with the correct word.

Prior to independence, the healthcare sector in India was in (1) with a large number of
deaths and rampant spread of infectious diseases. After independence, the Government of India laid (2)

on primary healthcare and India has put in sustained efforts to better the healthcare system (3)

the country. The government initiative was not enough to meet the demands of a growing
population be it in primary, secondary or tertiary healthcare. Alternate sources of finance were critical for the
sustainability of the health sector.
Till about 20 years ago, private sector ventures in the healthcare sector (4) only solo practitioners,
small hospitals and nursing homes. The quality of service provided was excellent especially in the hospitals
run by charitable trusts and religious foundations. In the 1980's, realizing that the government on its own
would not be able to (5) the proper healthcare, allowed the entry of private sector firms in order to
reduce the (6) between supply and demand for healthcare. The establishment of the private sector
has resulted in the (7) of opportunities in terms of medical equipment, information technology in
health services, BPO, telemedicine and medical tourism.
Large companies and (8) individuals have now started five-star hospitals which dominate the space
for the high-end market. The private sector has made (9) progress, but on the flip side it is also
responsible for increasing (10) in the healthcare sector. The private sector should be more socially
relevant and effort must be made to make the private sector accessible for the weaker sections of society.

Fill in the blank 1 with the appropriate word.
1. shambles
2. failure
3. demand
4.  prosperity
5. ruined
Testbook Solution Correct Option - 1

Que. 92 Fill in the blank 2 with the appropriate word.
1. bricks
2. emphasize

3. request
4. stress
5. important

Testbook Solution Correct Option - 4

Que. 93 Fill in the blank 3 with the appropriate word.
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1. through
2. across
3. sharing
4.  with
5. on
Testbook Solution Correct Option - 2

Que. 94 Fill in the blank 4 with the appropriate word.
1. made
2. comprise
3. consisted
4. is
5. contained
Testbook Solution Correct Option - 2

Que. 95 Fill in the blank S with the appropriate word.

1. cater
2. provide
3. manage
4. survive
5. give

Testbook Solution Correct Option - 2

Que. 96 Fill in the blank 6 with the appropriate word.
1. gap
2. position
3. distance
4. length
5. thought
Testbook Solution Correct Option - 1

Que. 97 Fill in the blank 7 with the appropriate word.
1. reduction
2. cropping
3. disabling
4. emergence
5. sea

Testbook Solution Correct Option - 5

Que. 98 Fill in the blank 8 with the appropriate word.

1. needy
2. much

3. destitute
4. affluent
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5.

bigger

Testbook Solution Correct Option - 4

Que. 99 Fill in the blank 9 with the appropriate word.

1.
2.
3.
4.
5.

slowly
improve
many
improvised

tremendous

Testbook Solution Correct Option - 5

Que. 100 Fill in the blank 10 with the appropriate word.

1.
2.
3.
4.
5.

speed
pace
inequality
uniformity

seriousness

Testbook Solution Correct Option - 3

Que. 101  What will come in the place of the question mark '?' in the following question?

5.

1
2.
3.
4

(4270 + 122) + ? = 200
165
155
175
185

None of these

Testbook Solution Correct Option - 1

Que. 102 What will come in the place of the question mark '?" in the following question?

5.

1

2.
3.
4

(3080 +6160) +~? =330
24
23
28
27

None of these

Testbook Solution Correct Option - 3

Que. 103 What value can come in place of the question mark (?) in the question below?

A A e

32% of 400 + 24% of 500 = ?
246
226
248
238
216
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Testbook Solution Correct Option - 3

Que. 104 What will come in the place of the question mark ‘?’ in the following question?

5.

1

2.
3.
4

[(5)*x 3]+ 15=2
1110
1115
1025
1125

None of the above

Testbook Solution Correct Option - 4

Que. 105 What will come in the place of the question mark ‘?” in the following question?

5.

1

2.
3.
4

10x100+5+9="7
65
170
209
310

None of these

Testbook Solution Correct Option - 3

Que. 106 A bus covers a distance of 2,924 kms. in 43 hours. What is the speed of the bus?

1.
2.
3.
4.
5.

78 kmph
60 kmph
68 kmph
62 kmph
None of these

Testbook Solution Correct Option - 3

Que. 107 What is the least positive number to be added to or subtracted from 700 to make it perfect square?

1.
2.
3.
4.
5.

29
30
24
26
38

Testbook Solution Correct Option - 3

Que. 108 What would be the interest obtained in an amount of Rs. 11480 at the rate of 7% per annum at

1

2.
3.
4

5.

simple interest after 3 years?
Rs. 3015.7
Rs. 2580.6
Rs. 3561.4
Rs. 4215.5
Rs. 2410.8

Testbook Solution Correct Option - 5
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Que. 109 325 x17=7

1. 5005
2. 5015
3. 5955
4. 5525
5. 5565

Testbook Solution Correct Option - 4

Que. 110 If the product of two successive positive integers is 8742 then, find the sum of digits of greater

number.
1. 12
2. 14
3. 15
4. 13
5. 11

Testbook Solution Correct Option - 4

Que. 111 The owner of an electronics shop charges his customer 22% more than the cost price. If a
customer paid Rs. 10,980 for a DVD Player, then what was the cost price of the DVD player?

1. 9000
2. 8400
3. 3200
4. 7800
5. None of these
Testbook Solution Correct Option - 1

Que. 112 What would be the compound interest obtained on an amount of Rs. 3,000 at the rate of 8 percent
per annum after 2 years?

1. Rs499.2
2. Rs844.2
3. Rs1094
4. Rs648.6

5. None of these
Testbook Solution Correct Option - 1

Que. 113 What is the least number to be added to 4425 to make it a perfect square?
1. 62

2. 64
3. 66
4. 6l

5. None of these
Testbook Solution Correct Option - 2

Que. 114 45% of a number is 255.6. What is 25% of that number?

1. 71
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5.

Eall

142
284
124

None of these

Testbook Solution Correct Option - 2

Que. 115 ind the average of the following set of scores:

5.

1
2.
3.
4

221,231, 441, 359, 665, 525
399
428
407
415

None of these

Testbook Solution Correct Option - 3

Que. 116 Wwhen 732 is subtracted from the square of a number, the answer that is obtained is 5280. What is

5.

1
2.
3.
4

the number?
97
103
99
101

None of the above/More than one of the above

Testbook Solution Correct Option - 2

Que. 117 In an exam a candidate is required 40% marks to pass. He got 80 marks and failed by 40 marks.

3.

1

2.
3.
4

Find the maximum marks
200
300
150
600
50

Testbook Solution Correct Option - 2

Que. 118 A, B and C divide Rs. 4200 among themselves in the ratio 7 : 8 : 6. If Rs. 200 is added to each of

3.

1

2.
3.
4

their shares. What is the new ratio in which they will receive the money?
:8:7
:9:7
:9:8
:10: 8
7:9:8

O o0 0 O

Testbook Solution Correct Option - 2

Que. 119  Ms. Suchi deposits an amount of Rs. 24,000 to obtain a simple interest at the rate of 14 pcpa for 8

1.

years. What total amount will Ms. Suchi get at the end of 8 years?

Rs. 62080
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Eall

5.

Rs. 28,000
Rs. 50,880
Rs. 26,880
None of these

Testbook Solution Correct Option - 3

Que. 120 The average of 5 consecutive even numbers A, B, C, D and E is 52. What is the product of B & E.

1.
2.
3.
4.
5.

2916
2988
3000
2800

None of these

Testbook Solution Correct Option - 4

Que. 121 The difference between 42% of a number and 28% of the same number is 210. What is 59% of

5.

1

2.
3.
4

that number?
630
885
420
900

None of these

Testbook Solution Correct Option - 2

Que. 122 What approximate value should come in place of the question mark (?) in the following question?

5.

1

2.
3.
4

4275 + 496 x (21)2 =2
3795
3800
3810
3875
3995

Testbook Solution Correct Option - 2

Que. 123 A canteen requires 112 kg of wheat for a week. How many kg of wheat will it require for 69

1

2.
3.
4

5.

days?
1,204 kgs.
1,401 kgs.
1,104 kgs.
1,014 kgs
None of these

Testbook Solution Correct Option - 3

Que. 124 If an amount of Rs. 10054 is distributed equally amongst 53 persons. How much amount would

1.
2.

each person get?

Rs. 187.9
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3.
4.
5.

Rs. 189.1
Rs. 189.7

None of these

Testbook Solution Correct Option - 4

Que. 125 The cost of 4 cell-phones and 7 digital cameras is Rs. 1,25,627. What is the cost of 8 cell phones

1
2.
3.
4

5.

and 14 digital cameras?
Rs. 2,51,254
Rs. 2,52,627
Rs. 2,25,524
Cannot be determined

None of these

Testbook Solution Correct Option - 1

Que. 126 Below question consists of a question and two statements numbered I and II are given below it.

You have to decide whether the data provided in the statements are sufficient to answer the

question. Read both the statements and give answer:
What is the area of the circle?

1. Perimeter of the circle 1s 88 cms.

II. Diameter of the circle is 28 cms.

1.

3.
4.
5.

The data in Statement I alone is sufficient to answer the question, while the data in Statement II alone
is not sufficient to answer the question.

The data in Statement II alone is sufficient to answer the question, while the data in Statement I alone
is not sufficient to answer the question.

The data in Statement I alone or in Statement II alone are sufficient to answer the question.
The data in both the Statements I and Il is not sufficient to answer the question.

The data in both the Statement I and II together are necessary to answer the question.

Testbook Solution Correct Option - 3

Que. 127 Direction: Below question consists of a question and two statements A and B given below it. You

have to decide whether the data provided in the statements are sufficient to answer the question.

Read the questions and both statements and give answer.
What is the rate of interest?

I. Simple interest accrued on an amount of Rs. 25,000 in two years is less than the compound interest for the
same period by Rs. 250.

II. Simple interest accrued in 10 years is equal to the principal.

1.

3.
4.
5.

The data in Statement I alone is sufficient to answer the question, while the data in Statement II alone
is not sufficient to answer the question.

The data in Statement II alone is sufficient to answer the question, while the data in Statement I alone
is not sufficient to answer the question.

The data in Statement I alone or in Statement II alone are sufficient to answer the question.
The data in both the Statements I and II is not sufficient to answer the question.

The data in both the Statement I and II together are necessary to answer the question.

Testbook Solution Correct Option - 3

Que. 128 Below question consists of a question and two statements numbered I and II are given below it.

You have to decide whether the data provided in the statements are sufficient to answer the
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question. Read both the statements and give answer:

What is the number of trees planted in the field in rows and columns?
I. Number of columns is more than the number of rows by 4.

II. Number of trees in each column is an even number.

1. The data in Statement I alone is sufficient to answer the question, while the data in Statement II alone
is not sufficient to answer the question.

2. The data in Statement II alone is sufficient to answer the question, while the data in Statement I alone
is not sufficient to answer the question.

3. The data in Statement I alone or in Statement II alone are sufficient to answer the question.
4. The data in both the Statements I and II is not sufficient to answer the question.
5. The data in both the Statement I and II together are necessary to answer the question.

Testbook Solution Correct Option - 4

Que. 129 Below question consists of a question and two statements numbered I and II are given below it.
You have to decide whether the data provided in the statements are sufficient to answer the
question. Read both the statements and give answer:

What is the area of the right-angled triangle?
I. Height of the triangle is three-fourth of the base.
II. Hypotenuse of the triangle is 5 meters.

1. The data in Statement I alone is sufficient to answer the question, while the data in Statement II alone
is not sufficient to answer the question.

2. The data in Statement II alone is sufficient to answer the question, while the data in Statement I alone
is not sufficient to answer the question.

3. The data in Statement I alone or in Statement II alone are sufficient to answer the question.
4. The data in both the Statements I and II is not sufficient to answer the question.
5. The data in both the Statement I and II together are necessary to answer the question.

Testbook Solution Correct Option - 5

Que. 130 Below question consists of a question and two statements numbered I and II are given below it.
You have to decide whether the data provided in the statements are sufficient to answer the
question. Read both the statements and give answer:

What is the father’s present age?
I. Father’s present age is five times the son’s present age.
II. Five years ago the father’s age was fifteen times the son’s age that time.

1. The data in Statement I alone is sufficient to answer the question, while the data in Statement II alone
is not sufficient to answer the question.

2. The data in Statement II alone is sufficient to answer the question, while the data in Statement I alone
is not sufficient to answer the question.

3. The data in Statement I alone or in Statement II alone are sufficient to answer the question.
4. The data in both the Statements I and II is not sufficient to answer the question.
5. The data in both the Statement I and II together are necessary to answer the question.

Testbook Solution Correct Option - 5

Que. 131 Directions: These questions are based on the graph given below:
Per cent profit earned by six companies during 2000 and 2001
Profit = Income — Expenditure
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If the income of company C in the year 2000 was Rs. 35 lakhs, what was its expenditure in that year?
1. Rs. 24 lakhs
2. Rs. 21 lakhs
3. Rs. 25 lakhs
4. Can’t be determined
5. None of these
Testbook Solution Correct Option - 3

Que. 132 If, in the year 2001, total expenditure of companies B and C was Rs. 48 lakhs, then what was their
total income in the same year?

1. Rs. 32 lakhs
2. Rs. 28.6 lakhs
3. Rs.34.2 lakhs
4. Can’t be determined
5.  None of these
Testbook Solution Correct Option - 4

Que. 133  If, in the year 2000, expenditure of company C was Rs. 32 lakhs, what was the income of the
company in the same year?

1. Rs. 44.2 lakhs
2.  Rs. 48.4 lakhs
3. Rs.46.4 lakhs
4. Rs. 38 lakhs
5.  None of these
Testbook Solution Correct Option - 5

Que. 134  If the expenditure of company E in the year 2000 and 2001 were the same, what was the ratio of
the incomes of the company in the same years respectively?

1. 19:21
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3. 29:31
4. 9:11
5. None of these
Testbook Solution Correct Option - 3

Que. 135 The income of company D in the year 2000 was Rs. 31 lakhs. What was the earned profit?
1. Rs. 11 lakhs
2. Rs. 20 lakhs
3.  Rs. 17 lakhs
4. Rs. 12 lakhs
5. None of these
Testbook Solution Correct Option - 1

Que. 136 Direction:
Study the following table carefully and answer the question given below.

Table Giving Percentage of Unmarried Male and Female Youth and the Total Population of Different
States (In Lakhs) in 2013 and 2014.

2013 2014
State M| F T | M| F T
UP 12 | 15 | 32 7 8 35
MP 8 7 18 | 10 9 20
J&K 9 10 | 28 | 10 | 12 | 34
Punjab 10 6 | 24 8 8 30
Bihar 6 8 30 7 6 32
Delhi 7 5 28 8 7 35

= ‘M’ = Percentage of Unmarried male youth over total population,
= ‘F’ = Percentage of Unmarried female youth over total population,

= ‘T’ = Total population of the state in lakhs.

How many female youths were unmarried in State ‘Punjab’ in 2013?

1. 18,480
2. 144,000
3. 80,400
4. 64,000

5.  None of these
Testbook Solution Correct Option - 2

Que. 137 Number of unmarried male youths in State UP in 2013 is what per cent of the number of
unmarried female youths in State Bihar in 2014?

1. 166
2. 160
3. 186
4. 200
5. None of these
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Testbook Solution Correct Option - 4

Que. 138  What was the difference between the number of unmarried male youths in State ‘Delhi’ in 2013
and the number of unmarried male youths in State ‘UP’ in 2014?

1. 70,000
2. 45,000
3. 68,000
4. 65,000
5. None of these
Testbook Solution Correct Option - 5

Que. 139 What was the respective ratio between unmarried male youths in state ‘Punjab’ in 2013 and the
unmarried male youths in State ‘Punjab’ in 2014?

N W —

1 1:
2. 2:
3. 3:
4. 4:5

5. None of these
Testbook Solution Correct Option - 1

Que. 140 What is the sum of unmarried male and unmarried females in UP in 2013?
1. 121,000

2. 215,000
3. 325,000
4. 864,000

5. None of these
Testbook Solution Correct Option - 4

Que. 141 What should come in place of the question mark '?" in the following number series?
22,29, 38, 49,62, ?
1. 77
2. 75
3. 80
4. 65
5. None of these
Testbook Solution Correct Option - 1

Que. 142 What should come in place of the question mark '?' in the following number series?
4,8,11,22,25,50,?
1. 24
2. 45
3. 53
4. 30
5. None of these
Testbook Solution Correct Option - 3
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Que. 143 What should come in place of the question mark '?" in the following number series?
2,1,1,1.5,3,?

l. 6

2. 75

3. 9

4. 45

5. None of these
Testbook Solution Correct Option - 2

Que. 144 What will come in place of question mark (?) in the following number series?
4,8, 24,96, 480, ?

1. 288
2. 2880
3. 486
4. 5600
5. 1440

Testbook Solution Correct Option - 2

Que. 145 What will come in place of question mark (?) in the following number series?
18,22,13,29,4,?

1. -32
2. 32
3. 40
4. -40
5. 24

Testbook Solution Correct Option - 3

Que. 146 In the given question, two equations numbered | and II are given. Solve both the equations and
mark the appropriate answer.

Lx?+9x+14=0
IL3y?+4y+1=0
I. x>y

2. x<y

3. x>y

4, x<y

5.  x =y or relationship between x and y can't be established

Testbook Solution Correct Option - 2

Que. 147 In the given questions, two equations numbered I and II are given. You have to solve both the
equations and mark the appropriate answer.

I:3x2 - 15x+12=0
Il : 4y — 80y +256 =0

I. x>y
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3. Norelationinxandyorx=y
4, x>y
5. x<y

Testbook Solution Correct Option - 2

Que. 148 In the given questions, two equations numbered I and II are given. You have to solve both the
equations and mark the appropriate answer.

Lx>+4x-77=0
I:y? - 24y + 143 =0
I. x>y
2. x<y
3. Norelationinxandyorx=y
4. x>y
5. x<y
Testbook Solution Correct Option - 5

Que. 149 In the given questions, two equations numbered I and II are given. You have to solve both the
equations and mark the appropriate answer.

I x=1681
II: y? = 1681
l. x>y
2. x<y
3. Norelationinxandyorx=y
4. x>y
5. x<y
Testbook Solution Correct Option - 4

Que. 150 In the given questions, two equations numbered I and II are given. You have to solve both the
equations and mark the appropriate answer.

Lx+15y=125
II: 5x + 4y =17
I. x>y
2. x<y
3. Norelationinxandyorx=y
4, x>y
5. x<y
Testbook Solution Correct Option - 5
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